Table of contents

(ConStands)

f— DE - Montage- und Verwendungshinweise 2
] LA . . .
— EN - Mounting and usage instructions 2
I I FR - Instructions de montage et d'utilisation 4
— NL - Montage- en gebruiksinstructies 4
I I IT - Istruzioni per il montaggio e l'uso 6
ES - Instrucciones de montaje y uso 6
|
L PL - Montage- en gebruiksinstructies 8
. A .
g SE - Montage- en gebruiksinstructies 8
DK - Instruktioner for montering og brug 10
RO - Instructiuni de montare si utilizare 10
Fi - Asennus- ja kdyttoohjeet 12
PT - Instrucoes de montagem e utilizacao 12
h CZ - Navod k montazi a pouziti 14
—_— HU - Szerelési és hasznalati utasitasok 14
I

man A Motea GmbH - Gewerbepark Griinewald 2 022055
58540 Meinerzhagen .




Montageanleitung / Mounting instruction

Zum Montagevideo / Allgemeine Hinweise
To the mounting video Vielen Dank fir den Kauf eines ConStands Zentralstanders.
Bitte lesen Sie sich die folgenden Montagehinweise sorgfaltig
durch. Die Motea GmbH Ubernimmt keine Haftung fiir Sach-

ConStands Power und/oder Personenschéden, die durch eine unsachgeméBe
302894 beziehungsweise mangelhafte Montage oder Nutzung
entstehen.

Uberpriifen Sie vor jedem Gebrauch die korrekte
Funktionsweise. Ziehen Sie bei Bedarf die Schrauben nach.

Technische  Anderungen,  Druckfehler und Irrttimer
vorbehalten.

General Information
Thank you for purchasing a ConStands central stand.

Please read the following installation instructions carefully.
Motea GmbH accepts no liability for damage to property
and/or personal injury resulting from improper or faulty
installation or use. Please check the correct function before
each use. Retighten the screws if necessary.

SCAN YouTube Subject to technical changes, printing errors and mistakes.

Lieferumfang / Scope of delivery
0, O
\ o

W 4

2. Kunststoffbuchse / Plastic bushing (x 1) a /
3. Hubpin / Lifting pin (x 1) 2 ' a =

4. Rahmenbhiilse / Frame bushing (x 1)

1. Adapterplatte / Adapter plate (x 1)

5. Schraube M12x45 / Screw M12x45 (x 1) e &
6. Schraube M8x30 / Screw M8x30 (x 1)

Distanzstiick / Distance plate

Nur fiir Power Classic erforderlich.
Only required for Power Classic.

Die Schrauben und Unterlegscheiben zur
Befestigung der Adapterplatte am
Zentralstdnder sind im Lieferumfang des
Zentralstanders enthalten.

The screws and washers for attaching the
adapter plate to the center stand are
included in the scope of delivery of the
center stand.

Neigungsversteller
Inclination adjuster

mﬂrE Motea GmPH - Gewerbepark Griinewald 2 . 02/2025
58540 Meinerzhagen




Montagepunkte am Fahrzeug / Mounting points at the vehicle @

Montage am Fahrzeug / Mounting at the vehicle

Losen Sie den Motorbolzen (A) und schieben Verschrauben Sie den Motorbolzen (A) mit der
diesen von der rechten Fahrzeugseite wieder Rahmenhiilse (4). Beachten Sie die Drehmoment-
ein. angaben des Herstellers.

Loosen the motor-bolt (A) and move it from the Screw the motor bolts (A) with the bushing (4). Note
right side of the vehicle again. the torque specifications of the manufacturer.

mﬂrE Motea GmbH - Gewerbepark Griinewald 2 3 M motea.com/contact 02/2025
58540 Meinerzhagen :



Instructions de montage / Montage-instructie

L Informations générales

Vers la vidéo de montage /

Naar de montagevideo Nous vous remercions d'avoir acheté un stand central
ConStands.

Veuillez lire attentivement les instructions d'installation
ConStands Power suivantes. Motea GmbH décline toute responsabilité en cas de
302894 dommages matériels et/ou corporels résultant d'une installation
ou d'une utilisation incorrecte ou défectueuse. Veuillez vérifier
le bon fonctionnement de l'appareil avant chaque utilisation.
Resserrez les vis si nécessaire.

Sous réserve de modifications techniques, de fautes
d'impression et d'erreurs.

Algemene informatie

Hartelijik dank voor de aanschaf van een ConStands
middenstandaard.

Lees de volgende montage-instructies zorgvuldig door. Motea
GmbH aanvaardt geen aansprakelijkheid voor schade aan
eigendommen en/of persoonlijk letsel als gevolg van onjuiste of
foutieve installatie of gebruik. Controleer voor elk gebruik de
Juiste werking. Draai de schroeven indien nodig opnieuw aan.

SCAN YouTube Technische  wijzigingen,  drukfouten en  vergissingen
\ J voorbehouden.

Contenu de la livraison / Omvang van de levering
e, 0O
W

2. Douille en plastique / Kunststof bus (x 1)

3. Goupille de levage / Hefpen (x 1) ~ / ' a 3
H."..f *

4. Douille de cadre / Frame bus (x 1)

1. Plaque d'adaptation / Adapterplaat (x 1)

5. Vis M12x45 / Schroef M12x45 (x 1) e &
6. Vis M8x30 / Schroef M8x30 (x 1)

Plaque d'écartement /
Afstandsplaat

303503 u

Nécessaire uniquement pour le Power
Classic.
Alleen vereist voor Power Classic.

Les vis et les rondelles permettant de
fixer la plaque d'adaptation a la béquille
centrale sont incluses dans la livraison de
la béquille centrale.

De schroeven en onderlegringen voor het
bevestigen van de adapterplaat aan de
middenstandaard worden meegeleverd
met de middenstandaard.

Dispositif de réglage de
I'inclinaison
Hellingversteller

mﬂrE Motea GmPH - Gewerbepark Griinewald 2 . 02/2025
58540 Meinerzhagen




Points de fixation sur le véhicule / Bevestigingspunten aan het voertuig @

Montage sur le véhicule / Montage aan het voertuig

Desserrez le boulon de moteur (A) et
déplacez-le a nouveau du co6té droit du
véhicule.

Draai de motorbout (A) los en verplaats deze
weer vanaf de rechterkant van het voertuig.

mﬂrE Motea GmbH - Gewerbepark Griinewald 2
58540 Meinerzhagen

2]

Vissez les boulons du moteur (A) avec la douille (4).
Respectez les spécifications de couple du fabricant.

Schroef de motorbouten (A) met de bus (4) vast. Let
op de aandraaispecificaties van de fabrikant.

M motea.com/contact 02/2025



Istruzioni per il montaggio / Instrucciones de montaje

Al video di montaggio /

Para el video de montaje Informazioni generali

Grazie per aver acquistato un supporto centrale ConStands.

ConStands Power La preghiamo di leggere attentamente le seguenti istruzioni di
302894 montaggio. Motea GmbH non si assume alcuna responsabilita
per danni a cose e/o persone derivanti da un'installazione o da
un utilizzo improprio o errato. Verifichi il corretto funzionamento
prima di ogni utilizzo. Se necessario, serri nuovamente le viti.

Con riserva di modifiche tecniche, errori di stampa ed errori.

Informacion general
Gracias por adquirir un caballete central ConStands.

Lea atentamente las siguientes instrucciones de instalacion.
Motea GmbH no se hace responsable de los dafios materiales
y/o0 personales que resulten de una instalacion o uso incorrecto
o defectuoso. Compruebe el correcto funcionamiento antes de
cada uso. Vuelva a apretar los tornillos si es necesario.

Sujeto a cambios técnicos, errores de impresion y
equivocaciones.

SCAN YouTube
S

Ambito di consegna / Alcance de la entrega
0, 0

1. Piastra adattatore / Placa adaptadora (x 1) '*ﬁ

2. Boccola di plastica / Casquillo de pldstico (x 1) a / '
P 9 i

3. Perno di sollevamento / Pasador de elevacion (x 1)

4. Boccola del telaio / Casquillo de marco (x 1)

5. Vite M12x45 / Tornillo M12x45 (x 1)
6. Vite M8x30 / Tornillo M8x30 (x 1)

Montaggio della piastra di adattam

Piastra distanziatrice /
Placa de distancia

Necessario solo per Power Classic.
Solo necesario para Power Classic.

Le viti e le rondelle per il fissaggio della
piastra di adattamento al cavalletto
centrale sono incluse nella fornitura del
cavalletto centrale.

Los tornillos y arandelas para fijar la placa
adaptadora al caballete central estdn
incluidos en el alcance de la entrega del
caballete central.

Regolatore di inclinazione
Ajustador de inclinacion

mﬂrE Motea GmPH - Gewerbepark Griinewald 2 . 02/2025
58540 Meinerzhagen



@ Punti di montaggio sul veicolo / Puntos de montaje en el vehiculo @

Montaggio sul veicolo / Montaje en el vehiculo

Allenti il bullone del motore (A) e lo sposti Avvitare i bulloni del motore (A) con la boccola (4).
nuovamente dal lato destro del veicolo. Osservare le specifiche di coppia del produttore.

Afloje el perno del motor (A) y muévalo de Atornille los pernos del motor (A) con el casquillo (4).
nuevo desde el lado derecho del vehiculo. Tenga en cuenta las especificaciones de par de
apriete del fabricante.

mﬂrE Motea GmbH - Gewerbepark Griinewald 2 7 M motea.com/contact 02/2025
58540 Meinerzhagen :



Instrukcja montazu / Monteringsanvisning

Do filmu montazowego /
Till monteringsvideon Informacje ogéine

Dziekujemy Panstwu za zakup stojaka centralnego ConStands.

ConStands Power Prosze uwaznie przeczytaé ponizsza instrukcje montazu. Motea
302894 GmbH nie ponosi odpowiedzialnosci za szkody materialne i/lub
obrazenia ciata wynikajgce z niewtasciwej lub wadliwej instalacji
lub uzytkowania. Prosze sprawdzi¢ poprawnos¢ dziatania przed

kazdym uzyciem. W razie potrzeby prosze dokreci¢ sruby.

Zastrzega sie prawo do zmian technicznych, bteddéw drukarskich
i pomytek.

Allmdn information
Tack for att du har képt ett ConStands centralstativ.

Lds foljande installationsanvisningar noggrant. Motea GmbH tar
inget ansvar fér egendoms- och/eller personskador som
uppstdr pd grund av felaktig eller bristfdllig installation eller
anvdndning. Kontrollera att funktionen d&r korrekt fére varje
anvdndningstillfdlle. Dra Gt skruvarna igen om det behévs.

Med reservation for tekniska dndringar, tryckfel och misstag.

SCAN YouTube
S

Zakres dostawy / Omfattning av leveransen
0, G

1. Ptyta adaptera / Adapterplatta (x 1) .\ﬁ

. Tuleja z tworzywa sztucznego / Bussning av plast (x 1) a / '
P 9 i

. Sworzen podnoszacy / Lyftstift (x 1)
. Tuleja ramy / Bussning fér ram (x 1)

. Sruba M12x45 / Skruv M12x45 (x 1) e ‘}‘

o o0 b~ W N

. Sruba M8x30 / Skruv M8x30 (x 1)

Ptyta dystansowa / Avstdndsplatta

sosse; ey

Wymagane tylko w przypadku Power
Classic.
Krévs endast fér Power Classic.

Sruby i podktadki do mocowania ptyty
adaptera do podpérki centralnej wchodza
w zakres dostawy podpérki centralne;j.

Skruvar och  brickor for att fdsta
adapterplattan  pd&  mittstédet  ingdr i
leveransomfattningen fér mittstédet.

Regulator nachylenia
Justerare for lutning

mﬂrE Motea GmPH - Gewerbepark Griinewald 2 . 02/2025
58540 Meinerzhagen




Punkty montazowe w pojezdzie / Monteringspunkter vid fordonet @

Montaz na pojezdzie / Montering vid fordonet

Poluzowac¢ srube silnika (A) i ponownie Wkreci¢ sruby silnika (A) z tuleja (4). Nalezy zwrdcic

przesunac ja z prawej strony pojazdu. uwage na specyfikacje momentu obrotowego
podane przez producenta.

Lossa motorbulten (A) och flytta den fran héger

sida av fordonet igen. Skruva fast motorbultarna (A) med bussningen (4).
Observera tillverkarens vridmomentspecifikationer.

mﬂrE Motea GmbH - Gewerbepark Griinewald 2 9 M motea.com/contact 02/2025
58540 Meinerzhagen :



Monteringsvejledning / Instructiuni de montare @

Til monteringsvideoen / Generel information

Pentru montajul video Tak, fordi du har kgbt et ConStands centralstativ.

Laes venligst felgende monteringsvejledning omhyggeligt.
ConStands Power Motea GmbH patager sig intet ansvar for materielle skader
302894 og/eller personskader som fglge af forkert eller mangelfuld
installation eller brug. Kontroller den korrekte funktion fgr hver
brug. Efterspaend skruerne, hvis det er ngdvendigt.

Der tages forbehold for tekniske aendringer, trykfejl og fejl.

Informatii generale

V& multumim pentru achizitionarea unui suport central
ConStands.

Vi@ rugdm sd cititi cu atentie urmdtoarele instructiuni de montayj.
Motea GmbH nu acceptd nicio rdspundere pentru daune
materiale si/sau vatamdri corporale rezultate in urma instalGrii
sau utilizdrii necorespunzdtoare sau defectuoase. V& rugdm sa
verificati functionarea corectd inainte de fiecare utilizare.
Strdngeti din nou suruburile dacd este necesar.

Sub rezerva modificdrilor tehnice, a erorilor de tipdrire si a

SCAN YouTube greselilor.
[

Leveringsomfang / Domeniul de livrare
\ A
2. Plastbgsning / Bucsd din plastic (x 1)

3. Laftestift / Pin de ridicare (x 1) __.3 / ' a :
H."..f *

4. Ramme-bgsning / Bucsd cadru (x 1)

1. Adapterplade / PlacG adaptoare (x 1)

5. Skrue M12x45 / Surub M12x45 (x 1) e &
6. Skrue M8x30 / Surub M8x30 (x 1)

Afstandsplade /
Placd de distantare

Kraeves kun til Power Classic.
Necesard numai pentru Power Classic.

Skruer og speendeskiver til fastgerelse af
adapterpladen pa midterstanderen er
inkluderet i leveringsomfanget for
midterstanderen.

Suruburile si saibele pentru fixarea placii
adaptoare pe stativul central sunt incluse
in pachetul de livrare al stativului central.

Justering af haeldning
Regulator de inclinare

mﬂrE Motea GmbH - Gewerbepark Griinewald 2 1 O 02/2025
58540 Meinerzhagen :




Monteringspunkter ved kgretgjet / Puncte de montare la vehicul

Montering ved kegretajet / Montarea la vehicul

Lasn motorbolten (A), og flyt den fra hgjre side Skru motorboltene (A) fast med bgsningen (4). Veer
af koretgjet igen. opmeerksom pa producentens momentangivelser.

Slabiti surubul motorului (A) si mutati-I din nou Insurubati suruburile motorului (A) cu bucsa (4).
din partea dreaptd a vehiculului. Retineti specificatiile de cuplu ale producatorului.

mﬂrE Motea GmbH - Gewerbepark Griinewald 2 11 M motea.com/contact 02/2025
58540 Meinerzhagen :



Asennusohjeet / Instrucées de montagem @

Asennusvideoon /

. Yleista
Para o video de montagem

Kiitos, ettd olet ostanut ConStands-keskustelineen.

ConStands Power Lue seuraavat asennusohjeet huolellisesti. Motea GmbH ei ota

302894 vastuuta omaisuus- ja/tai henkildvahingoista, jotka johtuvat

virheellisestd tai virheellisestd asennuksesta tai kaytosta.

Tarkista oikea toiminta ennen jokaista kayttokertaa. Kirista ruuvit
tarvittaessa uudelleen.

Teknisten muutosten, painovirheiden ja virheiden varalta.

Informacgdes gerais
Obrigado por ter adquirido um suporte central ConStands.

Por favor, leia atentamente as seguintes instru¢bes de
montagem. A Motea GmbH ndo se responsabiliza por danos
materiais e/ou pessoaqis resultantes de uma instalagcdo ou
utilizag@o incorrecta ou defeituosa. Verifique o funcionamento
correto antes de cada utilizagdo. Se necessdrio, volte a apertar
0s parafusos.

Sujeito a alteragbes técnicas, erros de impresséo e erros.
SCAN YouTube

Toimituksen laajuus / Ambito de fornecimento
0, 0

. Muoviholkki / Bucha de pldstico (x 1)

. Nostotappi / Pino de elevagéo (x 1) __.x / ' a 3
H."..f L

. Rungon holkki / Casquilho da estrutura (x 1)

1. Sovitinlevy / Placa de adaptagdo (x 1)

. Ruuvi M12x45 / Parafuso M12x45 (x 1) e &

o o0 A~ W N

. Ruuvi M8x30 / Parafuso M8x30 (x 1)

Etaisyyslevy / Placa de distdncia

sosse; ey

Tarvitaan vain Power Classic -laitteessa.
Apenas necessdrio para o Power Classic.

Ruuvit ja  aluslevyt adapterilevyn
kiinnittamiseksi keskitukeen sisdltyvat
keskitukin toimitukseen.

Os parafusos e as anilhas para fixar a
placa adaptadora ao descanso central
estdo incluidos no volume de fornecimento
do descanso central.

Kallistuksen saatolaite
Regulador de inclinagéo

mﬂrE Motea GmbH - Gewerbepark Griinewald 2 12 02/2025
58540 Meinerzhagen :




@ Kiinnityskohdat ajoneuvoon / Pontos de montagem no veiculo

Kiinnitys ajoneuvoon / Montagem no veiculo

Loysdada moottorin pultti (A) ja siirrd se Kierrda moottorin pultit (A) ja holkki (4) yhteen.
uudelleen ajoneuvon oikealta puolelta. Huomioi valmistajan vaantomomenttiohjeet.

Desaperte o parafuso do motor (A) e desloque- Aparafusar os parafusos do motor (A) com o
o0 novamente do lado direito do veiculo. casquilho (4). Observar as indicagbes de bindrio do
fabricante.

mﬂrE Motea GmbH - Gewerbepark Griinewald 2 13 M motea.com/contact 02/2025
58540 Meinerzhagen :



Pokyny k montazi / Szerelesi utasitds

K montaznimu videu /
A szerelési videohoz

Obecné informace
Dékujeme, ze jste si zakoupili centrdini stojan ConStands.

Prectéte si prosim pozorné ndasledujici montdzni pokyny.
Spole¢nost Motea GmbH nepfiebird Zddnou odpovédnost za
302894 $kody na majetku a/nebo zranéni osob v dlisledku nespravné
nebo chybné instalace nebo pouzivéni. Pfed kazdym pouzitim
zkontrolujte sprdvnou funkci. V pfipadé potifeby znovu utdhnéte
Srouby.

ConStands Power

S vyhradou technickych zmén, tiskovych chyb a omyl(.

Altaldnos informdcick
K6sz6énjlik, hogy ConStands kézponti dllvdnyt vdsdrolt.

Kerjiik, figyelmesen olvassa el az aldbbi szerelési utmutatdt. A
Motea GmbH nem vdllal felel6sséget a nem megfelelé vagy
hibds telepitésbdl vagy haszndlatbol eredé anyagi €s/vagy
személyi kdrokért. Kérjlik, minden haszndlat eldtt ellendrizze a
helyes mikdédést. Sziikség esetén huzza meg djra a csavarokat.

A technikai vdltozdsok, nyomdai hibdk €s tévedések

SCAN YouTube fliggveényeben.
S

Rozsah dodavky / Szdllitdsi terjedelem
0, 0

2. Plastové pouzdro / Mdanyag persely (x 1)

3. Zvedaci ¢ep / Emeldcsap (x 1) 4 / ' a
n.‘::"x iy

4. Ramové pouzdro / Keret persely (x 1)

1. Adaptérova deska / Adapterlemez (x 1)

5. Sroub M12x45 / Csavar M12x45 (x 1) e o
6. Sroub M8x30 / Csavar M8x30 (x 1)

Vzdalenostni deska /
Tdvolsdgi lemez

Vyzaduje se pouze u modelu Power
Classic.
Csak a Power Classic esetében szliks€ges.

Srouby a podlozky pro upevnéni
adaptérové desky ke stredovému stojanu
jsou soucasti dodavky stfedového
stojanu.

Az adapterlemez kézépdllvdnyhoz valo
régzitéséhez sziikséges csavarokat €s
aldtéteket a  k6zépdllvdany  szdllitdsi
terjedelme tartalmazza.

Nastavovac sklonu
Ddlésszogbedllito

mﬂrE Motea GmbH - Gewerbepark Griinewald 2 1 4 02/2025
58540 Meinerzhagen :




@ Montazni body u vozidla / Szerelési pontok a jarmdvén @

Montaz u vozidla / Szereles a jarmdvén

Povolte sroub motoru (A) a opét jej posurite z Nasroubujte srouby motoru (A) s pouzdrem (4).

pravé strany vozidla. E| Vezméte na védomi udaje vyrobce o krouticim
momentu.

Lazitsa meg a motorcsavart (A), €s a jdrmd jobb

oldala felél mozditsa el ismét. Csavarja be a motorcsavarokat (A) a perselybe (4).
Vegye figyelembe a gydrto dital megadott nyomateki

eléirdsokat.

mﬂrE Motea GmbH - Gewerbepark Griinewald 2 15 M motea.com/contact 02/2025
58540 Meinerzhagen :



